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School’s out for the summer! Wahoo! How cool is that2! While your
teachers top up their tan, mark your books and catch up on sleep,
why don't you have a go at practising your times tables.

Contained within this booklet are a number of activities to keep
your mind occupied over the next few weeks. Each activity is
explained on the page.

Good luck and have a rockin’ holiday!

#  Colourin the face that best describes how you feel
about the 3s, 4s and 8s times tables
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Use this table of facts to help you later on or you can hide the
answers and get a grown-up to test you.
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S: Skip count in 3s to complete the grid. ) N

3 9|12

@if Skip count in 3s by circling the numbers.
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@ Complete the bar models.
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%P Draw the dofs to complete the 3s pattern. N

Jd Multiply the bottom two bricks and write the answer
above. The first one is done for you.
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432 Skip count in 4s by circling the numbers.
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ww  Circle the numbers that don’t belong in the 4s.

a)

b)

c)

4,8,16,20,25.
16,19,24,28,32.
32,40,41,44, 49,
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=) Multiply the numbers by the centre number. %F%%f
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@ Complete the bar models.

4x5=__
4 1 4] 4

4x_ =

Answer the following:
a) 1l x4= b)4x4=
c)12x4= d)6x4=
e)9x4= f) 4x2=



8s yif
: Complete the tracks by counting up or down N

in 8s.
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Jd Mark this test paper with a tick or cross: : N

a) 2x8=10 d) Double 8 =16
b) 8 x 10= 80 e)8x3=24
c) 1x8=8 f)12x8=98

e Complete the bar models.

8x_ =

8

@‘if Use your knowledge of the 8s to fill in the missing
brick. The first one has been done for you.

16 16
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121 Enter the missing numbers by counting in 8s. N

20212223 |25|26|2728 |29
30 31 33 3435|3637 |38 39
U142 |43 | 4h |45 46 |\47| |49

60|61 62|63 |65 66| 67|68 69
|70/ 71| |73|74|75 76| 77|78 79
8182|8384 85 86|87 |89

cb, 64, ..., 80, ..., 96.
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The 33, lés Mﬂ 88. Complete the tables grids. %Tﬁ%%f

x 3 4 8 X 3 4 8
10 2

9 5

2 6

8 3

5 5

7 8

6 10

4 7

3 9

/ Gh&l}k “n: How are you feeling about the 3s,4s

and 8s so fare Draw the face that describes how you
feel about each ‘I can’ statement.

Self assessment @ @

| can count in 3s

| can count in 4s

| can count in 8s
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The Tis and 12 fact families. . 4

Fact family example: On the next page you will use
only the numbers in the fact triangle to find the
associated fact family solutions in the tables for the
11s and 12s.

3 X 4 = 12
4 X 3 = 12
12 - 3 = 4
12 + 4 = 3
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